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MD1-FR0000 = Gl/8 42 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 51.7 1332 346 0+11 9 488 @3.2 0.2
MD1-FR0000-1/8 G1/8 G1/8 42 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 51.7 1332 346 0+11 9 488 @3.2 0.2
MD1-FR0000-1/4 G1/4 G1/8 42 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 51.7 1332 346 0+11 9 488 @3.2 0.2
MD1-FR0000-3/8 G3/8 G1/8 42 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 51.7 1332 346 0+11 9 488 @3.2 0.2
MD1-FR0000-6 P6 G1/8 47 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 517 133.2 346 0+11 9 488 @3.2 0.2
MD1-FR0000-8 @8 G1/8 62 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 517 133.2 346 0+11 9 488 @3.2 0.2
MD1-FR0000-10 P10 G1/8 67 @28 42 M28X1.5 G1/8 26.2 43 @4 110 208.2 107.7 22.7 4 51.7 1332 346 0+11 9 48.8 @3.2 0.2
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